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PART-1
General Studies

In which of the following year the ‘Congress Socialist Party’ was established ?

(a) 1931 (b) 1932 (c) 1933 (d) 1934

Who among the following was not the member of Cabinet Mission that arrived in India in
1946 ?

(a) Lord Patthick Lawrence (b) A.V. Alexander

(c¢) Lord Willingdon (d) Sir Stafford Cripps

Under Article 192 of the Indian Constitution, the decision for disqualification of members
of the Legislative Assembly rests upon which of the following ?

(a) Speaker of the Legislative Assembly (b) Chief Minister

(c) Governor (d) Advocate General

Which of the following census forms the basis of calculation of value of votes for the election
of President in India ?
(a) 1951 census  (b) 1971 census (c) 1991 census (d) 2011 census

Which of the following committees was constituted to assess the failure of the Community
Development Programme in India ?

(a) Balwant Rai Mehta Committee (b) K. Santhanam Committee

(c) Ashok Mehta Committee (d) Dinesh Goswami Committee

Which Constitutional Amendment Act omitted the words ‘Rajpramukh’ or ‘Uparajpramukh’
from the Constitution ?

(a) First Constitutional Amendment Act (b) Third Constitutional Amendment Act

(c) Fifth Constitutional Amendment Act (d) Seventh Constitutional Amendment Act

Which of the following is not a core industry ?

(a) Fertilizers (b) Steel (c) Electricity (d) Leather
According to N.F.H.S. — 5 (2019-21) the total fertility rate in India is :

(a) 1.5 (b) 2.0 (c) 2.5 (d) 2.9

The headquarters of “Food and Agricultural Organisation” (FAO) is in

(a) Washington  (b) Paris (c) Rome (d) Madrid
‘National Food Security Act’ (NFSA) was passed in which year ?

(a) 2020 (b) 2017 (c) 2016 (d) 2018
Which one of the following rivers is not a tributary of river Brahmaputra ?

(a) Manas (b) Subansiri (c) Lohit (d) Padma
The Diatari Steel Plant is located in which of the following States ?

(a) Odisha (b) Maharashtra (c) Tamil Nadu (d) Karnataka
Which one of the following pairs is not correctly matched ?

(a) Mintaka Pass  — Joins North Kashmir with China

(b) Debsa Pass — Joins Kullu with Lahaul and Spiti

(c) Bom Di La Pass — Joins Sikkim with Tibet

(d) Dihang Pass — Joins Arunachal Pradesh and Myanmar
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Kodarma is famous for which of the following minerals ?

(a) Iron Ore (b) Copper (c) Mica (d) Bauxite
According to 2011 census, which of the following sequence of the States is correct on the
basis of descending order of their population density ?

(a) Assam, Karnataka, Madhya Pradesh, Chhattisgarh

(b) Karnataka, Assam, Chhattisgarh, Madhya Pradesh

(c) Madhya Pradesh, Chhattisgarh, Assam, Karnataka

(d) Chhattisgarh, Karnataka, Assam, Madhya Pradesh

Which one of the following states recorded lowest women literacy rate according to 2011 census ?
(a) Uttar Pradesh (b) Rajasthan (c) Nagaland (d) Meghalaya

Which of the following Union Ministries is set to launch the virtual facility for
e-adjudication of company law violations by end of March, 2023 ?

(a) Ministry of Finance (b) Ministry of Corporate Affairs
(c) Ministry of External Affairs (d) Ministry of Commerce and Industry

Which of the following industrial enterprise has unveiled all women production line at its
plants located in Tamil Nadu ?
(a) Ashok Leyland (b) Nissan (¢) Maruti Suzuki (d) Hero Motocorp

Which of the following institutions launched India’s first Municipal Bond Index ?
(a) RBI (b) SEBI (c) BSE (d) NSE

As part of the G-20 summit, the first Supreme Audit Institution (SAI 20) Senior officers
meeting was held in which of the following cities in March, 2023 ?

(a) Patna (b) Kolkata (¢) Guwahati (d) Agra

The centre has recently approved the Quality Control Order (QCO) for mandatory
certification of which of the following products ?

(a) Jute (b) Cotton (c) Paper (d) Millet
Which is the first country to import carbon dioxide and bury it under sea ?
(a) Denmark (b) Norway (c) Sweden (d) Belgium

Which of the following city became the administrative centre of Kumaun and Garhwal after
the British Occupation in 1815 ?

(a) Almora (b) Chamoli (c) Askot (d) Jaspur
Badridutt Pandey was the Editor of which of the following Newspaper ?
(a) Almora Akhbar (b) Shakti (c) Both (a) & (b) (d) Prem

Which of the following traveller visited Haridwar and wrote about its geography and
history ?

(a) Nuniz (b) Ibn-Battuta (c) Abdur Razzaq (d) Hiuen-Tsang

In Uttarakhand which of the following was a pre-historic era site ?

(a) Lakhu Udyar (b) Kalibanga (c) Alamgirpur (d) None of the above

The Tiladi Movement originated in the valley of .
(a) Lakhamandal (b) Raj Garhi (c) Naugaun (d) Ranwai
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Who founded the ‘Sarola Sabha’ in Garhwal ?

(a) Tara Dutt Gairola (b) Mathura Prasad Naithani

(c) Bhairav Dutt Dhulia (d) Vishwambhar Dutt Chandola

The tradition of Rang Bang has been prevalent in which of the following tribe ?

(a) Buksa (b) Bhotiya (c) Jaunsari (d) Tharu

The folklore of Malusabhi is associated with which dynasty ?

(a) Kuninda (b) Chand (c) Katyuri (d) Panwar
Which among the following places is not related to Nanda Raj Jat ?

(a) Kurud (b) Kansua (¢) Nand Kesari (d) Maletha
Marriage ritual of ‘Chame Kharmo’ is associated with which tribe of Uttarakhand ?
(a) Raji (b) Shauka (c) Tharu (d) Buxa
Confluence point of eastern and western Nayar rivers is :

(a) Srikot (b) Kotdwar (c) Byasghat (d) Satpuli
‘Ram Gadh Micro Hydro-Power Project’ is located in which of the following districts ?
(a) Chamoli (b) Bageshwar (c) Champawat (d) Nainital
‘Binsar Wild Life Sanctuary’ is located in which of the following districts ?

(a) Pithoragarh (b) Chamoli (c) Almora (d) Rudraprayag
Which one of the following lakes is not situated in Uttarakhand ?

(a) Rakas Tal (b) Khurpa Tal (c) Pari Tal (d) Brahma Tal
Karnaprayag town is located on the confluence of which of the following rivers ?
(a) Alaknanda — Pinder (b) Alaknanda — Dhauli

(c) Alaknanda — Nandakini (d) Alaknanda — Mandakini

How many districts of Uttrarakhand have more than 1000 sex ratio ?
(a) 4 (b) 5 (c) 6 (d) 7

Which one of the following district of Uttarakhand has lowest child sex ratio (0-6 years age
group) ?

(a) Champawat  (b) Pithoragarh (c) Haridwar (d) Chamoli

Who played important role in the settlement of Nainital by advancing loans to the Britishers ?
(a) Moti Ram Shah (b) Edward Gardner

(c¢) George William Trail (d) Fazhlul Haq

Under the new Panchayati Raj system the Gram Panchayat in Uttarakhand consists of how
many committees ?

(a) 5 (Five) (b) 6 (Six) (c) 7 (Seven) (d) 10 (Ten)
In which year the Uttarakhand Panchayati Raj Act was passed ?

(a) 2010 (b) 2015 (c) 2016 (d) 2018
Which year is marked as historical in the history of Civil justice of Kumaun ?

(a) 1820 (b) 1829 (c) 1858 (d) 1869
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How many city/cities of purely hilly region in Uttarakhand has/ have been designated as
Municipal Corporation ?

(a) One (b) Two (c) Three (d) Nil

Who among the following Chief Ministers of Uttarakhand completed the Mandated Term
of five years ?

(a) Bhagat Singh Koshiyari (b) Ramesh Pokhariyal Nishank

(c) Narayan Dutt Tiwari (d) Vijai Bahuguna

In which of the following years the ‘double-lock’ system was introduced in Treasury
management during colonial rule in Uttarakhand ?

(a) 1824 (b) 1822 (c) 1835 (d) 1829

What was the total number of veterinary hospitals in Uttarakhand in 2020-21 ?

(a) 26 (b) 113 (c) 329 (d) 778

In which of the following year ‘One Nation One Ration Card’ scheme was launched in the
State of Uttarakhand ?

(a) August, 2015 (b) May, 2018 (c) July, 2020 (d) January, 2022

When was ‘Chief Minister Self Employment Scheme — Nano Enterprise’ launched in
Uttarakhand ?

(a) October, 2019 (b) August, 2020 (¢) October, 2021 (d) August, 2022

In 2020-21, which oil seed covered the maximum area in Uttarakhand ?
(a) Groundnut (b) Soyabean (c) Sesame (d) Lahi and mustard

Where is Rural Development and Migration Prevention Commission of Uttarakhand situated ?
(a) Almora (b) Tehri, Garhwal  (c¢) Pauri, Garhwal  (d) Uttarkashi

The New Industrial Policy to promote the economic development of hilly and remote areas
of Uttarakhand was introduced in

(a) April, 2002 (b) April, 2006 (c) April, 2008 (d) April, 2017
Where is “Himalaya Mega Food Park” established in Uttarakhand ?

(a) Jwalapur, Haridwar (b) Bhimtal, Nainital

(c) Mahua khera, Kashipur (d) Doiwala, Dehradun

Which district of Uttarakhand has the highest multi-dimensional poverty as per Uttarakhand
Economic Survey 2021-22 ?

(a) Almora (b) Bageshwar (c) Haridwar (d) Pithoragarh

What was the rank of Uttarakhand State in Sustainable Development Goal (SDG) ranking
published by ‘NITI” Aayog in 2020 ?

(a) 4th (b) Sth (C) 6th (d) 8th

Mukhyamantri Mahalakhsmi Yojana being implemented in Uttarakhand is associated with
which of the following ?

(a) Girls Education (b) Women Empowerment

(c) Training of Girls (d) Safe Maternity
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57. Most commonly used semi-conductive material is :
(a) Selenium (b) Silicon (¢) Tin (d) Iron

58. Golden rice is a GMO crop that synthesizes :
(a) Vitamin-A (b) Golden Pigment (c) Biotoxin (d) Insulin

59. Which one of the following has been declared India’s best aspirational district under NITI
Aayog’s aspirational district programme ?

(a) Dehradun (b) Haridwar (c) Srinagar (d) Roorkee
60. Pink boll worm is a pest of :

(a) Soyabean (b) Cotton (c) Bamboo (d) Sugarcane
61. Which of the following is not an application of internet ?

(a) Video conference (b) E-mail

(c) Intranet (d) Browsing the website
62. Pictorial form of an algorithm for solving the problem through computer is known as

(a) Program (b) Program Language(c) Flow chart (d) Output
63. Which is not the part of computer system ?

(a) Central Processing Unit (CPU) (b) Pen Drive

(c) Memory (Primary) (d) Motherboard

64. Which of the following is used for video-conferencing ?
(a) MS-TEAMS (b) MS-WORD (c) MS-EXCEL (d) MS-ACCESS

65. In which of the following Harappan sites, the remains of bead manufacture was found ?
(a) Chanhudaro (b) Kalibanga (c) Dholavira (d) Ropar

66. The ruler of which of the following State sent Afzal Khan to capture Shivaji ?
(a) Golkunda (b) Bijapur (c) Ahmadnagar (d) Khandesh

67. Which of the following social reformer played an active role for widow remarriage in
western India ?

(a) J.E.D. Bethune (b) Gopal Hari Deshmukh

(c) D.K.Karve (d) Vishnu Krishna Chiplankar
68. Which of the following viceroy was murdered in India ?

(a) Lord Lytton  (b) Lord Reading (¢) Lord Minto (d) Lord Mayo
69. Sir Richard Strachey is related to which of the following ?

(a) Education Commission (b) Police Commission

(c) Railway Commission (d) Famine Commission

70. Who among the following wrote the book ‘The Philosophy of the Bomb’ ?
(a) Bhagat Singh (b) Bhagwati Charan Vohra
(c) Chandrashekar Azad (d) Ram Prasad Bismil
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gaifires T foran S arett 31 -<meres uere @
(a) Trifrem ORGINEE] (c) T (d) <t

TMoed TS Ueh St T 371 HH & ST G9ATSd il 2
(a) Teefimu (b) g Uik (c) STETfeRa (d) sgfeH

Fifer 3T o AR caTeRief SHUC T o T=Avd T § O fordeh! W 1 9998 HEcaTehiall SHUe
HifSra feram mm 2

(a) B (b) BREH (c) #Fm (d) Esh!
fiiep &feT o frar e 8 2
(a) TATEN HT (b) U I (c) STEHT (d) TR
frafafiga 4 @ forat se@ie it swfirar 78 2 2
(a) s HHpT (b) -3
(c) F<eMe (d) IEHTEE HI ST HEAT
HE % HTEH W THET I 51 i o foTT TR o Farerss &9 1 Y ST AR |
(a) TU™ (b) TTITTHT ST (c) ST @faa (d) 33ee
hi &1 Fre e o feemn T 7 2
(2) gt TR Ifie (b) o grEd
(c) T (i) (d) TeTETE
1 ST TSI HiShTT o for femam San 2 |
(a) MS-TEAMS (b) MS-WORD (¢) MS-EXCEL (d) MS-ACCESS
FrforRaa 4 @ fora gew wret 8§, 79 99H & 3Ry i 8 2
(a) TGS (b) wHreftEm (c) e (d) TUs
Fr=ferRaa o & forg T & 1TEes 1 31T @ ol RS 1 Tehed & forw e o1 2
(a) TSI (b) ST (c) 3TEHEHR (d) @rew
Frefafaa 9 @ fora e gomes 3 faean qafdars o fore afvadt wia § afse oJftes s 2
(a) 3.8 q2 (b) T ER e
(c) S, sd (d) Terso] speoT FeraeTeht
fr=ferfea o @ forg S <t YRd ® e g8 2
(a) TS feted (b) wiie ffem (c) ©is = (d) &S Tt
o frere w=h o wrery fretfofiga § @ frma 2 7
(a) Toremm s (b) Tferd s
(c) I ST (d) gffer s
Freferfaa & & fepe <g fhatiadh 317w g Sfrar gedes forgt 2
(a) WTATHE (b) WITEdT =T AE

(c) EIG TG (d) T v fafee
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PART-2

Technical Knowledge
A heat engine receives heat from a source at 1600 K at a rate of 400 kW and rejects the
waste heat to a medium at 400 K. If the power output from the heat engine is 200 kW, the
irreversibility rate for the process is :

(a) 100 kW (b) 200 kW (c) 300 kW (d) 400 kW

If the value of polytropic index ‘n’ increases, the work done by a closed system will
(a) increase only (b) decrease only

(c) remain same only (d) either increase or remain same
Efficiency of a Carnot Engine operating between 200 °C and 40 °C will be

(a) 50% (b) 80% (c) 90% (d) 33.8%

The value of compression ratio in S.I. engine is of the order of

(a) 2-6 (b) 6-10 () 12-20 (d) 4-15

What would be the factor of safety for a vehicle designed for 12 passengers whereas only 4
passengers sit ?

(a) 3 (b) 48 (c) 0.33 (d) 6
Match the List-I (I.C. engine parts) with List-II (Materials) and choose the correct answer :
List-1 List-11
A. Piston Rings 1. Cast Iron
B. Fly Wheel 2. Steel
C. Gudgeon Pin 3. Hardened Steel
D. Connecting Rod 4. Alloy Steel

(a) A-2, B-4, C-1, D-3
(b) A-3, B-2, C-1, D4
(c) A-4, B-3, C-2, D-1
(d) A-1, B-2, C-3, D4

Octane number of natural gas is

(a) 80—100 (b) 80-90 (¢) 90-100 (d) >100

In modern shock absorber which gas is used ?

(a) Oxygen (b) Hydrogen (c) Nitrogen (d) Carbon dioxide
The tilt of the front car wheels from the vertical is called

(a) Camber (b) Caster

(c) Slip angle (d) Steering axis inclination

The main constituent of CNG is

(a) Ethane (b) Propane (c) Methane (d) Hydrogen
Which of the following is not a part of the Chassis ?

(a) Wheels (b) Differential (c) Gear box (d) Seats

In the cooling tower water is cooled while the air is

(a) heated and humidified (b) cooled and humidified

(c) cooled and dehumidified (d) heated and dehumidified

Anti-knock characteristics of alcohol, compared to gasoline is

(a) better (b) poor (c) same (d) keeps changing

Use of hydrogen in I.C. engines has the following advantage :
(a) high energy content per unit volume (b) easy storage and handling
(¢) low NO, emission (d) lesser chance of detonation

Which of the following is most viscous lubricating oil ?

(a) SAE40  (b) SAES0 _(c) SAE60 (d) SAE70

12 Series-A



71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

81.

82.

83.

84.

8S.

TUE-2
KETIEI RG]
Toh ST 9, Teh 81 S 1600 K 9 R 2, | 400 Toh. a1 31 &1 | S5HT UTH hLdl § T e R18
Elﬁ4OOKtITQ$HTWEﬁﬁTWWT% | arfe AT g9 <6 fotm wifek 200 fop.ame @
3 WShH i STTHAYTIAT &L T

(a) 100fhae  (b) 2001%5a12 (c) 300 f.am (d) 400 f.ame
fe e GErehish ‘n’ I W Gl 8, A9 Th o eprd gr ferar o shrd
(a) hadl T | (b) hae T |
(c) haeT THH T | (d) & Gehdl & 31YET U & Thal 2 |
Teh SHTFIC 394 shl 2&TdT Sl foh 200 °C a1 40 °C%aﬁa¢rﬁaﬂw§,ﬁﬂaﬂ‘ﬁﬁ:
(@) 50% ~ (b) 80% {%1:;90% (d) 33.8%
Th TR ST $9 § FYIS STHTA 1 7H
(@) 2-6 (b) 6—10 (c) 12— 20 4-15
Teh TITE! ShT FL&AT T[UTISh T BT AT 12 A1Fr0T o6 fore feame <t it 2, Wﬁmﬂaﬁﬁaﬁ%?

14 2 3 e o 5 e L 8 g e 85 e 5 e e

qAT T I T I R

-1 -1l
A. o far 1. @l o
B. TfdUlei @k 2. IO
C. ToH fi= 3. IEd I
D. wAfRTTE 4. Tosng s9dT@
(a) A-2, B4, C-1, D-3
(b) A3, B2, C-1. D-4
(c) A4, B3, C-2, D-1
(d) A-1, B-2, C-3, D-4
ITehfcreh 19 T ST HEAT B 2 -
(a) 80— 100 (b) 80 —90 (c) 90—100 (d) > 100

TEITA STk H i HY A T o AR S R 2

(a) SATFESH (b) BTSN (c) SIS (d) e SEIFTES
I o 3T skl (Wheels) & SEATER ¥ FehTd bl had @ :
(a) HFR (b) HEX (c) TorEer o (d) EfaT s HIgHE
CNG 19 ¥ g7 31e9e g1 3
(a) 3 (b) S (c) HI (d) BTEGH
rferiaa O & W it oy A R 2
(a) dsh (b) TehiRma (c) TirR afed (d) e
Qﬁwwﬁwﬁm%mm%wﬁa@ﬁ
(a) TH qT fr ST 2 | (b) 3T AT STihd feohall FTATR |
(c) dsTAAT fr ST 2 | (d) T QAT IFTEIRA fehaT ST 2 |
T <hl TUETT Toehlge o STTEHICULT 70T
(a) 34—@%| (b) TEE | ~ (c) AR | (d) SeAqaT &1 g |
IFICE 391 W gIgg o S & g ey €
(a) Ifd TS 3TraA  31freh Sotl (b) TE@E 9 YRl § glaen
(c) NO, 38 5 &l (d) ITREPRICT 6T H7 TEITEAT
=1 @ @ o Haifies YaaT 9Tl HEeh dd | 2
(a) SAE 40 ~ (b) SAE 50 (c) SAE 60 (d) SAE 70
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General provisions regarding construction and maintenance of vehicles, under the Motor
Vehicles Act, 1988 are enshrined under

(a) Section 109 (b) Section 110 (c) Section 111 (d) Section 112
Which section of the Motor Vehicles Act, 1988 deals with the grant of driving license ?
(a) Section 6 (b) Section 8 (c) Section 9 (d) Section 10
Section 183 of Motor Vehicles Act, 1988 is related to

(a) Driving dangerously (b) Driving at excessive speed etc.

(c) Driving by a drunken person (d) Driving when physically unfit

Suspension of driving licence in certain cases is provided under which of the following
Sections of Motor Vehicle Act, 1988 ?

(a) Section 21 (b) Section 22 (c) Section 23 (d) Section 26
Under which Section of Motor Vehicles Act, 1988 temporary registration number gets issued ?
(a) Section 41 (b) Section 43 (c) Section 45 (d) Section 47

Section 10 of the Motor Vehicles Act, 1988 deals with
(a) Forms and contents of licence to drive (b) Additions to driving licence
(c) Renewal of driving licence (d) Grant of learner’s licence

When did Bharat Stage VI Norm came into effect for all vehicles nation wide ?

(a) 1% April, 2018 (b) 1% April, 2019 (c¢) 1% April, 2020 (d) 1% April, 2021
The “Bharat Stage Emission Norms” in India are based on :

(a) US Norms

(b) Japanese Norms

(c) Global Vehicle Emission Standards of the UN Environment Programme

(d) Euro Norms

Under the Motor Vehicles Act, 1988 a Learner’s licence or Driving licence is not required
in some cases ; These are :

(a) Road-roller (b) Motorcycle without gear

(c) Adapted vehicle (d) None of the above

Under the first schedule of the Motor Vehicles Act, 1988 the sign for “School Ahead” falls
under the category of :

(a) Cautionary signs (b) Mandatory signs

(c) Informatory signs (d) Special Traffic signs
Temperature stress is a function of

1. Poisson’s Ratio 2.  Modulus of Elasticity
3. Modulus of Rigidity 4. Rise in temperature

5. Co-efficient of linear expansion
(@) 2,3andS5only (b) 3,4and5only (c¢) 2,4and5only (d) 1,2 and4 only

The force of resistance per unit area, offered by a body against deformation is known as :
(a) Stress (b) Strain (¢) Work (d) Power
Which of the following statement is correct ?

(a) Heat and work are path functions. (b) Work is path function but heat is not.
(c) Heat is path function but work is not. (d) Heat and work both are not path functions.

COP of heat pump is greater than the COP of refrigerator by
(a) 1 (b) 10 (c) 100 (d) -1

. In a Bell Coleman Refrigeration plant, compression and expansion of air are isentropic. If

the temperature of air entering and leaving the expander are 400 K and 200 K respectively
then what will be the COP of the plant ?
(a) 0.5 (b) 1.0 (c) 15 (d) 2.0
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A I JRIfM, 1988 o A=Td T8 oh [HH{U 3T TETETE o Tra | IRy 3qay
% Fidiid T @ |

(a) 9T 109 (b) &I 110 (c) URI111 (d) &/ 112
e I M, 1988 i fovd 9T T =Ter ST o QU ST <l ST & 2

(a) 96 (b) &m8 (c) 99 (d) &mT10
TeT I ferfam, 1988 Y 9T 183 &1 Tra-e & :

(a) WAATH s A TAH T (b) 3rcaferss i a7fe & =@ &

(c) Torelt o =afh gRI 9T & (d) IITTE 9 9 3 g g¢ IaH 9
frferfiaa & @ aet o stfufem, 1988 6t fove g & 31w & femem 1 yau= & 2
(a) 921 (b) &I 22 (c) 923 (d) &mT26
e I ferfm, 1988 i fohd 9T o 3Tt Frerrfl TR et S fohan STran 8 2
(a) 9T 41 (b) €T 43 (c) 9T 45 (d) &mT47

TeT A1 ferfam, 1988 i &my 10 TraIfd &

(a) T 3T % T 3R Fadeg o (b) T TR § afedq &

(c) =T TITH o Fel-1ehTur ¥ (d) Tremeff ss 1 fea S &

< H T AT b fIT WA RS VI AHEUE el AR g3 2

(a) 1379, 2018 % (b) 137, 20198 (c) 130, 20208 (d) 131, 20219
TRE F “9TE T I W ST -

(a) 3.TH. I W

(b) STIT AT W

(c) TIH T TATG0T TR o AfTeh TG ISl HTehi T

(d) JU AT W

HIS AT AT, 1988 o 3wTa Fremeff STIRfH 7o =Tereh ST hi STawIehdl o Al
HAE gl e, A g :

(a) TS UK (b) fermr frr areft At wmgfera

(c) EUT=Rd I (d) 3Tk § | IS T

AT AW AT, 1988 <l o L o Jwwia “3Tm forrera &7 o fore fFuife deha 6t 2oft 2 -
(a) TdmE Hehd  (b) ATHTIh Heohd (c) GaTHh Ghd () ToRTe IramTd ehd
g gfdee T S Be B B

1. Higs FAgaTd 2. AT TR

3. gedih 4. TOHE H SR

5. G Y91 &1 Ul

(a) HIA2,3d5 (b) HIA3,495 (c) HaA 2,495 (d) ot 1,294
foreaur & fereg e g g o T Ui 3ohTs & W ufeier o7 heetTdT | ¢

(a) et (b) forpfa (c) (d) R
fedasR TSI T ?

(a) ST TUT R 9Y e & | (b) 9y %o B, Toheg o & |
(c) 1 9Y %o 8, foheg S & | (d) ST YT SHI I Ho & B |
Teh FEH 99 ST COP Teh WRfifert & COP ¥ fohaa 1fereh B @ 7

(@) 1 (b) 10 (c) 100 d) -1

Tsh St hioTi Tefia G § 91 shT Tdied Td ST qeu-eitueh & T 7 | afe foeanes i &
BT o T o feRTE o a9 ShHE: 400 K 9 200 K & df 833 shl COP &1 81Tt 2
(a) 0.5 (b) 1.0 ) 1.5 (d) 2.0
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PART-3

General Aptitude Test
Earth is related to its axis in the same way as wheel is related to :
(a) Tyre (b) Car (c) Road (d) Hub
When seen in a mirror, a clock shows 8:30. The correct time is :
(a) 2:30 (b) 3:30 (c) 5:30 (d) 8:30

You are getting late for your office and no bus is available. In such situation
(a) you start walking.

(b) you drop the idea to go to office that day and return home.

(c) you think about other possible conveyance.

(d) you wait patiently for the bus though you are late for the office.

If ]31 >£ , then what is true ? (where p, q, 1, s are natural numbers)

prr_p pfr_p
(a) q+s>q (b) q+s<q (c) ps<rgq (d) None of these
Santosh was travelling in a railway compartment. There, he met a man and five women.

Each woman had a child in her arms. How many people were there in the compartment ?
(a) 9 (b) 10 (c) 11 (d) 12
A group of three inter-related words is given. Choose a word from the given alternatives that
belongs to the same group —
Peas : Gram :: Pulses : ?
(a) Rice (b) Barley (c) Beans (d) Coconut
Complete the following letter series :
AFI, JOR, MRU, ?
(a) GJU (b) HMP (c) PMO (d) RJL
Statements : 1. Some books are bags.
II.  All bags are trees.
Conclusions : 1. Some books are trees.
II. Some trees are books.
Choose the correct alternative :

(a) Only conclusion I follows. (b) Only conclusion II follows.
(c) Both conclusions I and II follow. (d) None of the conclusion follows.
1 4
Which of the following are two fractions between 3 and 3 ?
7 5 1 8 2 2 6 5
(a) 3 and 5 (b) 1 and 9 (c) 7 and 11 (d) 11 and ]

First of all vowels are written as they appear in the English alphabet. After that consonants
are written in the reverse order. Which letter is the 12 letter to the left of 8™ letter from the

right ?

(a) Z (b) X () W d Y

If SHARP is coded as 58034 and PUSH as 4658, then RUSH is coded as -

(a) 3568 (b) 3658 (c) 3585 (d) None of these

If white is called blue, blue is called red, red is called yellow and yellow is called black.
What would be the colour of human blood ?
(a) Black (b) Red (c) Yellow (d) None of these

. In a certain code language ‘37’ means ‘which class’ and ‘583° means ‘caste and class’. What

is the code for ‘caste’ ?
(a) 3 (b) 7 __(c) Either5or8  (d) Noneofthese
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w@ue-3

T Fhg Tieton
geeft 7ot gt @ I yehR wrEfia 7, | yeer g e g
(a) TRRA (b) HRA (c) TSH A (d) g9 9
@a&mﬁé@ﬁm‘a@%mowﬁ@ﬁ% IFE'TW%
(a) 2:30 ) 3:30 (¢) 5:30 8:30

mwm%fméﬁﬁ@%ﬁﬁéwwaﬁ% |ia°rf@ﬁ%rﬁ
(a) 39 AT IE H B |

(b) mwﬁqwmqaﬁaﬁtmﬁﬁzﬁaﬂﬁwwﬁ%l

(c) 3T 7= FEATIIT ITaE TTeH & a1 H | & |

(d) 319 97 % foru Sdigdes Tdten wid & 9t € 31U s dg e AW R |

aﬁg%aaww%?(ﬂﬁp, q, 1, s TTehieh T&IT &)

@ P el ©) ps<rq (&) T A

HAY 3 o Tesd H AR HT TET AT | 81 36 Teh 3TTeHT 3 uT= 37 firedt | Tcish Afget < e
T Ueh =1 T | 39 fgeu d fohad T 9 2

(a) 9 (b) 10 () d) 12

<f STeg] ST TR TEsfeerd T foan e B |%qnqﬁamﬁﬁﬁa€wgﬁnﬁaﬁw{5ﬁﬁl
T : AT :: T 2 2

(a) A (b) St (c) &M (d) =i
frferfaa 31er sj@en i i i -

AFIL JOR, MRU ?

(a) GJU b) HMP (¢) PMO (d) RIL
HH: [ BB I E |
Frert L wgﬁ;gﬁgé
: L 39 5% |
IL. @ﬁggﬁ%§|
el faspe
(a) WWIWW% | (b) haet Fshy 11 1TH0T AT 2 |

(c) gt frsep 1 wa 1T 3780 hd & | (d) 13 oft freshe 1T & T # |
P & 5 3 2 il e @ st 8 2

7.5 1 .8 2 .2 6 .5
(@) gW@ ¢ (b) 3Ty © W7 (d) 79y
T ST FuiHTeAT | SHATTA TRl <! fo@t ST 8 | deuvad S5 ol 3o shl § ot Srar
%?ﬁ‘q’reﬁaﬁtﬁ 8&31?1};(3@2@@3?!1 1261131&11@?1?3*”" @
?T% SHARPﬁ58034ﬁam PUSH %1 4658 @{F&aﬁmw% a1 RUSH fed g
(a) 3568W (b) 36587 (c) 35859 (d) 3T A BIE &
fe Hhg I e, el 1 AT, ATt ohl Tl q2i el shl hIeTT el S, T Hi=a G 3T TT BT &1 2
(a) AT (b) WA (c) e (d) T @ 15 TE
fereft frfeaa e Wt & <377 1 31 ® ‘which class’ T <583” %1 319 2 “caste and class’,
‘caste’%%ﬁ{@w_a;lm?
(a) 3 (b) 7 (c) A58 (@ ‘sqﬁ@aﬁéq"@
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In a table tennis tournament each of six players will play every other players exactly once.
How many matches will be played during the tournament ?
(a) 12 (b) 15 (c) 30 (d) 36

o 3 ) )
In an examination, a student was asked to find 14 of a certain number. By mistake, he found

3 . .
1 of it. His answer was 150 more than the correct answer. The given number is :

(a) 450 (b) 300 (c) 270 (d) 280
Out of 120 applications for a post, 70 are males and 80 have a driving license. What is the

ratio between the minimum to maximum number of males having driving license ?
(a) 1:2 (b) 2:3 (c) 3.7 (d) 5:7

Find the missing number (?

4 3] 2] 8 ] 3
s |3 1 9 | 24
71 3 3] 7] 70
2 9| 4| 12| 2

(a) 84 (b) 60 (c) 27 (d) 120

A number is greater than 3 but less than 8. Also it is greater than 6 but less than 10. The
number is :

(@) 5 (b) 6 (c) 7 (d) 8

In an examination, 53% passed in Biology, 61% passed in English, 60% in Social Studies,
24% in Biology and English, 35% in English and Social Studies, 27% in Biology and Social
Studies and 5% in none. If the number of students in the class is 200, how many passed in
only one subject ?

(a) 48 (b) 46 (c) more than 50 (d) less than 30

What fraction of 2 hours is 15 seconds ?
1 1 1
(a) 360 (b) 600 (c) 280 (d) None of these

One evening before Sunset, two friends A and B were talking to each other face to face. If
B’s shadow was exactly to his right side, which direction was A facing ?

(a) North (b) South (c) West (d) None of these

A student got twice as many sums wrong as he got right. If he attempted 48 sums in all, how
many did he solve correctly ?

(a) 8 (b) 24 (c) 30 (d) 16
What will be the angle between minute hand and hour hand at 4:30 PM ?
(a) 60° (b) 75° (c) 45° (d) 30°

Which letter will replace the question mark (?) in the following circle ?

(@ G (b) U (© V (d) H

. Highest common factor of 0.5 and 0.7 is equal to :

(a) 0.35 (b) 0.1 (c) 1 (d) 3.5
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ég%@ﬁﬂ{qﬁ?ﬁ 6 RactTfei st T o |1 Teh IR B9 @1 7 | gATHe | $ed fohad B9
?

(a) 12 (b) 15 (c) 30 (d) 36
%ﬁqﬂmﬁﬁmﬁﬁﬁwﬁﬁww%mwaﬁww|W€ﬁﬁ,3ﬂﬁﬁww%aﬁ

Tora | 3HehT 3T, WEI I 150 AH AT | TR T R

(a) 450 (b) 300 (c) 270 (d) 280
%aﬁqaéslzoarréaaﬁﬁﬁmgm%aﬁtsoé:wgrsﬁﬂmﬁ?r%|36q3faﬁ’l=e§m3ﬁx
SATrehee AT <l FTUT FAT BN, Toreeh UTE Srgfent irgdid & ?

(a) 1:2 (b) 2:3 (c) 3:7 (d) 5:7
T GE&AT (?) M HIT |

4 3 2 8 32

5 3 1 9 24

7 3 3 7 70

2 9 4 12 9
(a) 84 (b) 60 (c) 27 (d) 120

sz?mﬁaﬁwé éﬁﬂgﬁw%|wﬁsaﬁﬁ?ﬁag6ﬁm% AR 10 M HT 7§ | T8
TER -

(a) 5 (b) 6 (c) 7 d) 8

fopelt wliem 4 53% Sfia fosie | 9T BT, 61% ST H U B, 60% AHIH JEA H, 24%
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126.

127.

128.

129.

130.

131.

132.

133.

134.

13S.

136.

137.

What is minimum number of colours required to paint the given figure inside so that no two
adjacent sides have the same colour ?

(a) 2 (b) 3 (c) 4 (d) 5

If numbers are written from 101 to 200, then how many times 1 is written ?

(a) 118 (b) 120 (c) 121 (d) 119

Two ladies and two men are playing cards and are seated North, East, South and West of the
table. No lady is facing East. Person sitting opposite to each other are not of the same sex.
One man is facing South. Which directions will ladies be facing ?

(a) North and West(b) East and West (¢) South and East  (d) None of these

The number of boys in a class is three times the number of girls. Which one of the following

numbers does not represent the total number of students in the class ?
(a) 48 (b) 44 (c) 42 (d) None of the above

If the product of two numbers is 5 and one of the two numbers is % , then what is the positive
value of the reciprocal of the difference of the numbers ?

@ o 0 = © 35 @ 5

In the number series given below, which one of the following options will appear at the place

marked (?) ?
8,5,14,7, 26, 14

(a) 10 (b) 12 (c) 13 (d) None of these

The next term of the series 1, 4, 2, 8, 6, 24, 22, 88, ...... is

(a) 90 (b) 86 (c) 152 (d) 354

P’s age is equal to Q. R is younger than S. T is younger than R but elder than P. Which one
is the oldest ?

(a) P (b) Q () R (d) S

A man said to a lady, “‘your mother’s husband’s sister is my aunt”’. How is the lady related to the man ?
(a) Sister (b) Grand daughter (c) Mother (d) Daughter

Choose most appropriate meaningful sequence for :

1. Index 2. Contents 3. Title 4. Chapter 5. Introduction
(a) 2,3.4.5,1 (b) 3,2,5,1.4 (c) 3.2,5.4,1 (d) 514,23
Which one describes the correct relationship among males, father, doctors ?

YD

(a) 1 (b) I (c) I (d IV

In the number series given below, which one of the following options will appear at the place
marked (?) ?

14,8,5,?,2.75

(a) 3.5 (b) 3.25 (c) 3.00 (d) 2.95
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138.

139.

140.

141.

142.

143.

144.

14S.

146.

147.

148.

149.

150.

With reference to the figure given below, the number of different routes from S to T is
(without repeating the path at U and V)

S T
U V

(a) 6 (b) 9 (c) 18 (d) 3
The number of triangles in the following figure is :

(a) 12 (b) 14 (c) 16 (d) 15
The next pair in the following (2,3), (3,5), (5,7), (7,11), (11,13), (., .) is
(a) (13,15) (b) (15,16) (c) (13,17) (d) (13,19)

Choose the correct alternative :

Circle : Circumference :: Square : ?

(a) Area (b) Perimeter (c) Diagonal (d) Volume
Which is not similar to the others ?

Rice ; Wheat ; Barley ; Mustard

(a) Mustard (b) Barley (c) Rice (d) Wheat
What is the internal angle between two sides of a regular pentagon ?
(a) 72° (b) 120° (c) 180° (d) 108°

Select that pair which expresses the relationship that is most similar to

GOOD : EXCELLENT

(a) BAD: IMMORAL (b) CAUTION : CARELESS

(c) HILL : MOUNTAIN (d) SICKNESS : MEDICINES

Point E is 15 meter North to point D. Point F is 20 meter North to point C. Point A is 35 meter
East to point F. Point P is 25 meter South to point A. Point E is 20 meter East to point P. If point
X is 20 meter South to point C, then what is the total distance between point X and point D ?

(a) 40 meter (b) 55 meter (¢) 35 meter (d) 65 meter
If3+5=5,4+7=8, 8+ 7=6, then what should 9 + 6 be ?
(a) 4 (b) 9 (¢) 5 (d) 6

Which of the conclusions logically follow(s) the given statements ?
Statements :  All children are students.

All students are players.
Conclusions : 1. All cricketers are students.

I1. All children are players.

(a) Only conclusion I follows. (b) Only conclusion II follows.

(c) Both conclusions I and II follow. (d) Neither conclusion I nor II follows.

In a certain code PAPER is written as SCTGW. How is MOTHER written in that code ?
(a) ORVLGW (b) PQVIGT (c) PQXJT (d) PQXKIJV

How many rectangles are there in the given figure ?

(@) 9 (b) 6 (c) 8 (d) 7
How many triangles are there in the following figure ?

(a) 9 (b) 10 () 11 @) 12
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